


L.0: To explain how a shape has been translated
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First of all, chaoose ane cormer on the first shape,
After that, identify the same comer an the transtated shape.
Finally, explan how if's been translaled. This amne is B6, 1N
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What is 3 reflection?

Original shape

Reflected shape

Line of reﬂectmn/

We also
call this
the
mirror
line’
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Top tip!
Do each
vertex
separa’ce]y.
then join
them up!
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mirror line
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Top tip!

Reflective Symmetry

When looking at reflective symmetry, always hold the drawing up
vertically, with the line of symmetry vertical.
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Don’t Forge’c
to rotate if
you 3re using
3 mirror!

What are the
co-ordinates

2 3 4% 5 6 7 8 9 ©

>on the
reflection?




Reflect triangle A in the x-axis Reflect triangle B in the y-axis
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Con\ c
\ Py the grid, the shape and the mirror lin Copy the grid, the shape and the mirror
& Sketch the reflection, line.

’ Sketch the reflection.
Use squared paper.

Copy the grid, the shape and the mirror line.
Sketch the reflection.
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Give the co-ordinates of points A-H: T
a) in the above shapes

b) in the reflected shapes. e Give the co-ordinates of points A-H:
; a) in the above shapes

b) in the reflected shapes.

Plot the co-ordinates for each of the following on a
6 X 6 grid and join them up in the order given to
form a shape. Draw the mirror line and sketch the

; Plot the co-ordinates on an 8 X 8 grid
reflection.

and join them up in the order given to
0 (3, 4) (1, 6) (4, 6) (6, 4) (3, 4) form a shape. Draw the mirror line and
Mirror line (0, 3) to (6, 3) sketch the reflection.
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0 (((4" ((;)) (((())' :))) 2,1)@ 26, 2GHE 1) "~ Mirror line (0, 0) to (8, 8)

Mirror ine (0, 3) to (6, 3) : © (.20,66G,6658660,2)
O 2N01H0)0,92 5 Mirroriie Oie )
Mirror line (3, 0) to (3, 6) O 28 @8 8) (8 2)(6,4) (6, 6) 4, 6)

(2, 8)
o (4:0)(6:4) (5: (% 9 (4, 6) Mirror line (0, 8) to (8, 0)
Mirror line (3, 0) to (3, 6)

(1,101, 3)(0,4) (0, 6) (1, 6) (6, 1)
D 0,646 3,53 40,401,586 o (6,0)(4,0)(3,1)(,1)

Mirror line (0, 3) to (6, 3) ' Mirror line (0, 8) to (8, 0)
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o Give the co-ordinates of points A-H:
a) "in the above shapes

b) in the reflected shapes. £
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Class Challenge!

Object A is reflected in the mirror line to give image B.
Write the coordinates of the vertices for each shape.
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